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m — Parallel Lines and Transversals

Use the figure to find the relationship between angles. Afterwards find the measure of the numbered angles.
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Use the figure to find the measures of the numbered angles.
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112° and Z1are angles.
Zland £2 are 50//é"7€4é('/ angles.
msl=_Y2°
ms2=_&%°
34° and £2 are versn cd“/ angles.
Zland £2 are 5‘////4’”‘”é7 angles. «
Z2and Z4 are correspenadiny angles.
Z3and /7 are a/fernatt  Jakiror angles.
Zland £5 are @ /fernarc exFer1or angles.
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mL=_ /% 11) mze2= 329 12)
med=_39"° 14) mss= /%6 °

msL3= /V@o

15)  mue6=_35°




Complete the statement. Explain your reasoning.

20) If the measure of Z1 = 160°, then the measure of /5 = /900.
Why?

ﬂej are c'o//t,/wm%hj 4n/4¢<<

21) If the measure of £6 = 37°, then the measure of /4 = 37° .

Why? 727 arc wertce/ gyéj

17
22) If the measure of £8 = 82°, then the measure of /3 = 75°

Why? LS and LY ax dwﬁfva # e o ca//g;//ma/? 44/ &y,
23 e LY arc ff///w(j, Thes L3 end L5
23) If the measure of £4 = 60°, then the measure of 5 = /Z0°,

Why?

JAe emrine le
/ arc  Sggr#mcn 57 4/1/ "

Correct the following statements about the numbered angles by replacing the underlined words with the correct

words.

24) /2 is congruentto Z4. /4 is congruent to /8.

So, £2 is supplementary to £8.
a?yrmv%
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25) Z6 iscongruent to £3. £3 is congruent to /1.

So, £6 is congruent to /1.

Sry//&rm./y

26) If a transversal intersects two parallel lines, is it possible for all of the angles formed to be acute angles?

Explain.
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